Algebra 2 Name: /fj 7 \\“\ x\‘
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Review - Roots, Radicals, and Rational Exponents Date: Period:
Simplify.
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7.) Convert between forms in the chart below.
Radical Form Rational Exponent Form
3 /3
Vs 5

(r7 2x )3 (2x)5
e+2) (x+2)
(7 ) i

8.) Write the radical function that results from applying the following transformation to the graph of y = Vx.

¢ Atranslation of 4 units to the left and 1 unit down.

1

ical shrink of =.
e Avertical shrink o 3 /
3

J

9.) Write the radical function that results from applying the following transformation to the graphof y = Vx.

xty —/

e A translation of 2 units to the right and 3 unit up.

e Avertical stretch of 2. 3
y L 7x~-2 *+ 3
d
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Graph the following radical functions and state the key information.

10) y= Vrta-

Y
L=}

Parent Function: g = ‘r’—‘- X y

Domain: E'*_. °°) o o

Range: [—l. 0") / oy ] AEr® =i
E . -10 -3 ‘— 5 14

nd Behavior: ,/ 2 . -

asx - oo, f(x) > _=°

asx - —oo, f(x) -

Zeros: o (M%ze'_ &m crossEeS x—ﬂxq}

10

Describe the shifts from the parent function.

VELTICAL SHRire o 2 HCRI ZeniTHC _SWirT of LEXT 4, VERTICAC Suif7 oF Oguew |
B 7

11) y=2¥x-2+3

'
©

3
Parent Function: _y = '/7:- b4 y
d -

Domain: _(~ <, <) ;

-§ _ ” Ty
Range: ('°°, ) T+

=i -1
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End Behavior: }

O o _-l —3 - - 3 14
asx - oo, f(x) » _2° \ 2 ”
asx - —oo, f(x) » ~ 2 &~ -

8 Y
Zeros: ___ O
Describe the shifts from the parent function. =
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Solve. Remember to check for extraneous solutions.

2 z 3
12.) \/3x+10)=(2 +\/3x—4) 13) 3(9x - 5)5— =18
3 +10 = ¥+ 203x-of +243%-q + 3%-H 3 7*'5') '-?‘/
3/ 33
3x +10 = Yofarod + 3x [(9:: )" {?)
2
(10)°= (v 137 )" ., R ()
100 :y;&(sx;:) Ix-5 = (D
< X -
‘o Ix-s = 7
169 = YFx Py =9

x = Jo4 g
7F

= 4
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w (- [3‘1

Hx+rg =
qx = 76
x /9

P': xTRAMECHS

Y
T#6+c = -3
'ffFl = -3
3 #-3

1
15) 4(2x+7)2—11=25
/
d(zx+7#) " = 36

[(.Zx»r ?):}t[.?:) ’

2x a3 =&
2y = F4

'x = 37—]

16) (x-4)=(2x)"
x “-tfx ~tfy +10 = 2%
xZ-Ox +16 = 1x

2_/0x ¥k =0

X
(x-e)x-2) =¢
X-§F+0 x-L=c
x*—&"' x>2
ExTeA§ccc§

17)  2(3x— 4)§—5 3
z(3x-w)" =

[(3 X = ‘/)u]% [-‘/f/l
3x -+ [‘/]

3x-4 = 372
3x-4 =32 3x-4 =-37
x = -'2}

Ix 36 :
[~ %

Factor Completely.

18.) 9m?-25

K-?H'SY.?H*s)]

2y
-2

19.) 3x2-2x-8 20.) 8w -27

Axt ~Gx +4x =& 2wlw 20 33%

(3x"—6x)+(‘{X°f) <2w—3X‘7’w1+ 6w "99

3x(x-2)+ '-!(x—zv

}g-zﬁ(sx + w))

Scanned by CamScanner



